H Geo Ch8 Test Review

Indicate which strategy you need to use to solve the problem. If itis a trig, indicate Sin, Cos,
Tan, Inverse Sin, Inverse Cos, or Inverse Tan. If you need more than one strategy to use,
indicate both.

(a) Geometric Mean (Ski Slope)
. (b) Special Right Triangles
(c) Pythagorean Theorem
(d) Converse of Pythagorean Theorem
{e) Sin
(f} Cos
{g) Tan
(h) Inverse Sin
(i) Inverse Cos
(i) Inverse Tan

(1) A scalene triangle with an altitude drawn to the longest side. Measures of two angles are
" 35 and 40, and the length of the shortest side is 8. You have to find the lengths of the

altitude. S (q,o)>§ X=Sr(40)-§ w G A4

(2) A right triangle with an altitude drawn to the hypotenuse. Three sides of the right triangles

are kneva® Find the length of the altitude. 3 l‘f d=5Xx X"
(3) Fmd the length of an altitude of an equilateral triangle with a side lengthx V 2§ :
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(4} Find the altitude of a:trapezoid when the length of the bases and the length of the slant’side

are known. /iS}\ _2.2 | O,
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(5) Find the Iengths of tw des-of~a-nght trlangle when the length of thesird=side-is glven and

one of the angle is 60.!.{)_ é Lo‘,% [eé, r N é .
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(6)"In a obtuse triangle, the side Iengths are\&,\x and\x(m the order of the lengths of the
sides). Find the possible range of value for X. T
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(7) Perimeter of a rhombus is X, The length of thesleng diagonal is\(E;qa@s-the length of the

shert-diagonal in termsoEXeamd-Y. o
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(8) Perimeter of a rhombus is X/*The measure of one of the angles is 60. Express the length of
Y s e e et
short and long diagonals interms=ofX. (q

(9) Find the th Le;fé_angles,of,az,igm.iﬂangLe,wjlo.s_e.sid_eang 12,and 13. - A
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(10)  The consecutive verticesof a regufay20-gon is ABC. Find the length of AC. .
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(11)  In a right triangle, you have to find the measure of an angle, and you were given the
lengths of the hypotenuse and the adjacent leg.
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